
Johannes Brahms (1833–1897)
Symphony no. 1 in C minor, Op. 68 (1876)
Kopfsatz

score str. thm.

Introduction: Un poco sostenuto 6

§1  m1 1 0

m2 6 14

m3 21 54

§2  m1 25 65

m4 33 86

Exposition: Allegro 23

a (m1) 38 0

A1 (m3) 42 3

A2 (m2) 51 9

A1 (m3) 70 21

(a) 84 30

A3 winds 89 34

X (A1) 97 39

B1 (m1, A1) E flat major 121 55

B2 131 62

B3 clarinet, horn 148 73

B4 157 79

A1 inv. basses 161 81

K1 E flat minor 177 92

K2 E flat minor 185 97

    end 188 99

Exposition repeat 23

a (m1) 38

Development 23

(A1) B major 189 0

(m1, A1) 194 3

B4 225 23

(A3) 232 28

(A3) 253 42

B4 261 47

(B1) G organ point 273 55

a (m1) 293 68

(a) like 84 321 86

m1 passim

Recapitulation 20

A1 C minor 343 0

A2 352 7

A1 372 22

B1 C major 394 39

B2 404 46

B3 clarinet, horn 421 59

B4 430 66

A1 inv. basses 434 69

K1 C major 450 81

K2 C minor 458 87

extension 466 93

Coda 5

§1 B flat minor 475 0

§2  (a) C major  Meno allegro 495 56

    end C major 511 100
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Notice that A3 does not occur in the recapitulation.


